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t BRERR
print('x', x.value())
print('y', y.value())

# 4T3V DA4 K=+
import pulp

t REEETILOESR

prob =
pulp.LpProblem('Domain Problem', pulp.
LpMaximize)

t EBDEER

X

pulp.LpVariable('x',cat="Continuous')

y
pulp.LpVariable('y',cat="Continuous')
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prob += x >= 0
prob += y >= 0
prob += x + 3 * y <= 10
prob += 2 * x + y <= 9

Wiz, BB EER T D, B A BEECH K0 S
LEILL prob +=DFNTHRET L2, REXELIT
FEEE e,
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prob += x + y

Ul Eo#EfiZH ElZ, prob.solve () ETDHIET,
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#+ mEiLET
prob.solve ()

status
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import pulp
import pandas as pd

e b Sl Bk, x.value () REICED, =D
HaRRTED,
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# CSV 77 A ILDEEHIRAH
daf

pd.read csv('shift data.csv')

t BREBT—2OHME

calendar = df.iloc[:, 0] # A% (B
dayofweek = df.iloc[:, 1] # B%| (BEH)
closed day = df.iloc[:, 2] # Cc¥%l (4KEER)
weekends holidays = df.iloc[:, 3]

#D 5 (£BH)

staff df.columns[4:]

+ESILE (RA2yTH)

+ HEBASELTEAOMO 7B LIZRT 2 AR
for sf in staff:

for start in range(5, 365 - 6, 7):

+ RMOBEBAAD 7THZ L

prob +=pulp.lpSum([x[calendar([i], sf]

for i in range(start, start + 7)]) <= 5
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for i, cal in enumerate (calendar) :
if closed day[i] == + KEEH
for sf in staff:
prob += x[cal, sf] == 0

t RBELEETILOESR
prob

pulp.LpProblem('PlanetariumShift"',
pulp.LpMinimize)
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DOEF 4 NP EIZRDI512T 5,

# 1BELYDORELEHHEHRE 4 ALLEIZT D

for i1, cal in enumerate (calendar):

if pd.isna(closed day[i]) or
closed dayl[i] == + FHEER
prob += pulp.lpSum([x[cal, sf] for sf

in staff]) >= 4

t EHDOESR

cs [ (cal, sf)
sf in staff]
pulp.LpVariable.dicts ('x"',

for cal in calendar for

X

cs,
cat='Binary')

MM EL T, oDV H—D csy 77 AV T,
HOEMEDHENEDHNTWDHHIL, x[cal, sf]
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t HEASHOMLHRE->TWWSAIE < ZF LIS
for i1, cal in enumerate (calendar):

for sf in staff:

# BTG #

+ WERBB#RESTD

for sf in staff:

prob +=pulp.lpSum([x[cal, sf] for cal in
242

calendar])

if df.at[i, sf] == 1:
prob += x[cal, sf] == 1
YL BT T REERHIRI SRR E TELIENG,

prob.solve ([ZEVEBLE T N ZMITIE, RODHE
VINERGHIENTED,

+ mEILET
status prob.solve ()

F-. HE AR H oBIC, %92 HORH R
WML D ZOHIKSH 225, range (5,
365 - 6, 7)1, 2025 4L AIO B H 2 0 25
¥4 TS HEROT, ZEAX— L, 7 B EICH
P2z X8> Tnd, FEERIT. &IK 7 BHL5E2H
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prob += pulp.lpSum([x[cal,
pulp.lpSum(difflcal]
calendar)

sf]
for cal in

+ BRIBH

+ TAROEBERST

prob += pulp.lpSum([x[cal, sf]

for st
==11])

for i, cal in enumerate (calendar)
in staff if weekends holidays[i]
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'staffl'] 'staff2']
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# REIEEAT
solver = pulp.PULP CBC CMD (msg=True,
timeLimit=60, gapRel=0.05)

status = prob.solve(solver)

t EDDOHBEH
diff pulp.LpVariable.dicts ('diff"',
calendar,

lowBound=0, cat='Integer')

# HBNE - E—HSELHHIH

for cal in calendar:

prob += diff[cal] >=
x[cal, 'staffl'] - x[cal, 'staff2']
prob += diff[cal] >=
x[cal, 'staff2'] - x[cal, 'staffl']
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